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PART - A

Antonyms

: Each item in this section consists of a sentence with an underlined word followed by four

words. Select the option that is opposite in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

' Directions :

1.  She always organises lavish parties on birthdays.
\}H) frugal
(b)  decent
© cheap
(d) strange

2. The soldier was greatly praised for his valour.

(a) clumsiness
‘}b) cowardice
(¢) selfishness

(d) tactlessness
|

3.  These regions are very fertile.
WH  sterile
(b) arid
(c) barren

(d) productive

4, Some sick immigrants were detained at the airport.
(a) settlers
JB)  natives
(c) vagabonds

(d) foreigners

5 The questions were so elementary that anyone could pass the test.
(a) unusual

(b) primary
(c) npaive

Jd‘f advanced
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Fill in the blanks

Directions : Each of the following sentences in this section has a blank space and four words or group of
words given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response on the Answer Sheet accordingly.

6. It’s time you went out and
(a) afforded

b earned

(¢) gained

your own living,.

(d) won

7.  The elephant fell into a the hunters had set.

(a) track
\/Cb) trap

() trick

(d) trunk

8. The dress isn’t really tight. It’ll when you’ve worn it.
(a) bend '
(b) expand
(¢) squeeze

‘}zﬁ stretch

9.  With his back to the old man, he stood at the window, fists clenched, and his shoulders

with his choked sobbing.
Jd)  shivered 5
(b) shook
(¢) vibrated
(d) moved

10. The bereaved mother proudly received the gallantry award her brave son who had laid

down his life in the recent war.
(a) in the name of
(b)  in lieu of
€  on behalf of
(d) for the sake of

NMJIX-U-GTA (3-C)
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Spotting Errors

Directions : Each item in this section has a sentence with three underlined parts labelled (a), () and (c).
Read each sentence to find out whether there is any error in any underlined part and indicate your response
in the Answer Sheet against the corresponding letter i.e., (@) or (b) or (c). If you find no error, your response

should be indicated as (d).

11. Neither the servants nor the clerk has done this. No error

(a) (b) © g2

12. The car which went past us when we were driving on the highway

(a) (b)

must have been doing at least a hundred miles an hoﬁr. No error

(c) _ . )

13. Raju will be back home in an year after his stay abroad. No error

(a) Jh’) (c) (d)

14. Ihave much work to do. No error
(a) (b) (c) W

Psychology did not develop into a science based of careful observation

(a) \9}3’

til the late 1800s. No error

15.

and experimentation un

(e) ‘ (d)

NMJX-U-GTA (4-C)
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Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in

your Answer Sheet accordingly.

16. Today the newspaper is full of carnage and violence.

Jaf bloodshed

(b) lust
(c) concern
(d) satire

17. This religious gift, that makes men human, is still alive in Indian souls.

(a) mystical
S spiritual

(¢) metaphysical

(d) philosophical

18. It is difficult for us to imagine how much this safety means to everyone.

(a) feel
(b) understand

\/(dtbj.nk

(d) see

19. Public service is not merely something that occupies the hours you are doing it, but invades all yoﬁr

life and experience and affects them in one way or the other.

(a) preserves

JHf demolishes

(c¢) covers

(d) spoils

20. He was, in the early part of the twentieth century, a staunch nationalist of the liberal fold.

(a) profuse
(b) dogmatic
(¢) plentiful

\/(»d) tolerant

NMJX-U-GTA
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21.

22,

23.

NMJX-U-GTA

" -B
24.

rafrfen § @ S 21 3k 55 % @9 D

wft 3oy wenad w st 2 2
(a) 3585
(b) 36-71
(c) 3800

(d) 39-00

afe ‘A’ 3tk B’ =1 ° 5 6 %1 W B 3N
12km 1 T Qs H B, ‘A7 F 70 Hiew 2m @
e * AR o R, @ Az A BN
Sfta 7R et gft | 2

(a) ‘A’, 30m ¥ Sfam |

() ‘B, 200 m & Sftam |

(© ‘B’, 130 m @ Sam |

(d) < IS 9 EETE B S

‘M Hl g eoaig | ‘R, M 85T BT R
YV Baadag 2 |V H GEF DI R
‘Bealag vV dcadsamg | ‘M 3RB
&t a1y o fopa 9 &7 R B 7

18 99

15 99

13 99

1199

(a)

(b)

(c)

(d)

25.

26.

(6-C)
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W%@TW?:

RS 6 vt @ fawfa ww § foman S R,
T 6 et H1 fawda wH # fo@n S R SR
=t wg o et @ oft fran S ® | ¥ H,
Y 3 ‘7 H wh-gE & TH W o S
2 | Prafaftae o ¥ S e 139 AW H
TRl ofR e Hew R 2

(a) N

(b)y O

(¢ M

@ I

afe @, % Ty uiafda g B, o

frafafiag & § SH-G/HH-E FH TH 3/ ?

1. a2 %1 ndl gd, a’b? F (2n)d qA % A
fafda gl @ |

2. %,b%mwﬁﬁmﬁqﬁaﬁa
BT R |

9 e 7T e 1 FE W TE IR AT

(a) Had 1

(b) e 2

(¢) 13 23Mr

(@ a1, AH2

Y ghE (TR S9d) & ey § fefafed

FHoAEl § ¥ BT AR R 2

(a W8 fFd € & Pefim el @
Hefea 78 2 |

T8 et 31 & R F o9 § gekt
oo 2

7e ot 5T % 3R oiv S % 9
| Hafte faam R |

T’ B R ale @ fed g ¥
farfere wran-at 9t @ weifeg Rt |

(b)

(c)

(d)
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PART - B

21. Which one of the following is the average of all |24. The English alphabet is reordered in the

prime numbers between 21 and 55 ? following manner :
(a) 8585 1-1.\'“ The first 6 letters are written in opposite
"’1,\ order, the next 6 letters are written in
(b) 3671 "";» opposite order and so on. At the end, Y is
- “\«, interchanged with ‘Z’. Which one of the
\}M/ U\nm following is the fourth letter to the right of the
@ 3900 b 13" Jetter ? AsC 0 GF
» N Lk Tk L
m@@po ¥ O L
(b) O S T oV e X
22. If the ratio of speeds of ‘A’and ‘B’'is 5:6and|  (¢) M Yf]/
‘B’ allows ‘A’ a start of 70 metres in a 1-2 km @ I

race, who will win the race and by what .
25. If ‘a’ varies as ‘b’, then which of the following

distance ? .
statements is/are correct ?

(@) ‘A’wins by 30 m. 1. n' root of a?b varies as (2n)t" root of ab?.
2. h;iz varies inversely as b.
(b) ‘B’ wins by 200 m.

Select the correct answer using the code given
(¢)» ‘B’ wins by 130 m.
below :
(a) 1lonly
(b) 2 only
(¢) Both1and2
(d) Neither 1 nor 2

(d) The race finishes in a dead heat.

23. ‘M is 60 years old. ‘R’ is 5 years junior to ‘M’ | |
and 4 years senior to V. The youngest brother |26. Which one of the following statements about
Trial Balance is correct ?

£9 is ‘B’ and he is 6 years junior to V’. What |
v ’ (a) It is a book containing different accounts

is the age difference between M and ‘B" of an entity.
gz 5C (b) It is a statement containing balances of
(a) 18years 7 s debtors of an entity.
Y y‘ It is a statement containing balances of
\}M/ 15 years mn* debtors and creditors of an entity.

(d) It is a statement containing the various
ledger balances of an entity on a
particular date.

(¢) 13 years

(d) 11 years

‘ 7-C
NMJX-U-GTA ( )
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27. W & gearm % for wew weght Frafufied |31
T 4 forg @ (FrEr) § T e I R 0

(a) HIG o@
(b) =i S
(c) HTU @
(d) THETH T

28. 5] ST e & Bt & 9
(a) TH 8 & dfiw
(b) TH I9 % w1, g uiy ol % fimw
(c) drE as & fim
(d) Toret sTfGea & onefiq

32.

29. & IN TGV (IS SoF) AW I =T 98
(Sfee 3T e T1EE) 1 I TOE Ba1 8 2

(a) 7€, it 39 = 89 &1 9w
FRO AT & |
(b) &, FHIT THHE EA1 R |
() 7, Tqara <&l 3w uhwer o & 3@ #
TerTen SC |
(@) F8, e T& goa-gd (do| wMe) @
2
33.
30. Fyofafias # @ yom o8 s &, o fedt
STEETe THE & oHed gt [ I & ?
(a) qeA-93 (FH fie)
(b) The-aEl
(c) ECIGIECF|

(@) A (T

NMJX-U-GTA (8-C)
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frafafigs & @ 9 wag § Afded U
fammamy = wfafifiea 787 *@ 2 2

(a) fearft pum g
(b) fersupemret feraeqoret
(¢) %1 FAR firz

(d) ST ANId T

FHoA § 9 T TE R 2

(a) oIfyerie i @EHER, =mEr S g
frarl % 'l # well W oft, =l
HHEIC: Yl 6 FaisAi 1 37Em TR
o |

(b) ufEde #ft g s T |

(c) 399 TRl W I oAl W Yy Uz W A
&1 ggfd W Uss & 718 of |

(d) et gt g & famse g g oft |

o 1011 7, B & § e st § v
gfdg o <h1 camgar &y oft 2

o e, et

(b) TH.U BM

(¢) AUy, Seft

(d) TH3M. TR
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27.

28.

\)3#/ Within a year

‘wgd)

29.

y/ Yes, except where the Trial Balance is

30.

Wages paid for installation of machinery is|31.
debited to which one of the following
accounts ?

(a) Wages Account

(b)

e

(d)

Machinery Account
Installation Account

Profit and Loss Account

When are current liabilities payable ?

32.
After one year but within five years

(b)
(c) Within five years

Subject to a contingency

Is the total of Debit and Credit side of Trial
Balance the same ?

(a) No, there are some times good reason
why they differ.

(b) Yes, always.

extracted at the year end.

(d) No, because it is not a Balance Sheet,

Which one of the following is the first book in

which the transactions of a business unit are -
recorded ?
(a) Balance Sheet
(b) Cash Book
\)e)" Ledger
(d) Journal

NMJX-U-GTA

(9-C)
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Who among the following did not represent

the militant nationalist school of thought in

India ?

Ashwini Kumar Dutt

(a)

(b) Vishnushastri Chiplunkar
Vo:i’ Krishna Kumar Mitra
(d) Lala Lajpat Rai

Which one of the following statements about

the situation in the Ryotwari areas is correct ?

‘.(})/ A large amount of land passed into the
hands of the money lenders, merchants
and rich peasants, who usually utilised

the services of the tenants.

(b) Landless labourers became the land
owners.

(¢) It stopped the practice of leasing out
land to tenants at high prices.

(d)

Landlordism was totally destroyed.

In the year 1911, who among the following

formed the Social Service League in Bombay ?

(b) S.A. Dange
(c) N.M. Joshi
(d) M.R. Jayakar
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35.

36.

317.
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g ® wifye 777 9 2
(a) UIGR FooTHYTE T
(b) STFeT @M

(c) =Tg TS FET
(d wrfia FEE

fr=fofes & @ #9 e fem &1 we= 77
a7 2

(a) URm-wRE

(b) VFE frm

© T FF

d) S I

ﬁn%%aﬁﬁ%e%éxsﬁmﬁ,aﬁm
% SgEel & faeg 200 ke N 9@ WS
faerdt =9 £ 2

(a) FI Grehue
(b) ST ATSH USTHA
() R FE

@ eo=ga sfvam

o a1 % fafafigd srensi § @ 999 sregw
% ®9 4 o fafed & s =i s @
TSHIfds g1 8 3er 8 U 9 2

EifcifR: I CrC Ty
AR g e
Hiem w<ftg &

dt.u, g

(a)
(b)
(c)

39.

(d)

(10-C)

38. T Y

40.
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00— 82Tt —h SRR —
T Raw % w9 4 W@ R | ST
gt fegw mAR wedt fRm R wrw
frforfiag o @ form Tsg 3 it ot 2

(a) ofieen
(b) wTATRY

(¢) ¥I@

@ =9

B & H, B Al aeRrgaen fave smw
WA (T A1.37.) 1 o wfgen TRy
T |3 da e amHir 22

(a) SR
(b) 3fernfemm
gt
@ Fa

(c)

FAGH A ASA TOHT  GREsd  gREeE
frefafe & @ g 2w & wra % w9
St 2

(a) A9TA
(b) HR

AL |
R IEEe e

(c)

(d)
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38.

34. Who among the following was nof part of the

group of ‘no-changers’ in the Congress Party ?
‘)a’f Sardar Vallabhbhai Patel

(b) Dr. Ansari

(¢) Babu Rajendra Prasad

(d) Motilal Nehru

35. Who among the following was not a member
of the Cabinet Mission ?
(a) Pethick-Lawrence
(b) Stafford Cripps
(c) AV.Alexander 39.

Jﬂf Lord Wavell

36. Who among the following is the first player in
the history of Test Cricket to take 200 wickets

against left-handed batsmen ?
(a) Muttiah Muralitharan
(b) James Michael Anderson
(c) Stuart Broad

\/(dd Ravichandran Ashwin

37. Who among the following Speakers of Lok |40-
Sabha formally disassociated from the
political party after his election as the
Speaker ?

af  G.V.Mavalankar
(b) Sardar Hukam Singh
(¢) Neelam Sanjiva Reddy
(d) P.A. Sangma
(11-C)

NMJX-U-GTA
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UNESCO has

the International Mother Language Day since
2000. The idea to celebrate the International
Mother Language Day was the initiative of
which of the following nations ?

(a) SriLanka
(b) Bangladesh

¢f India

(d) Nepal

Dr. Ngozi Okonjo-Iweala was recently selected
as the first woman Director-General of WTO.
She hails from which one of the following

countries ?

(a) Japan
(b) Ethiopia
y Nigeria

(d) Egypt

The Kaladan Multi-Modal Transit Transport
Project will connect India with which one of

the following countries ?

(d) Afghanistan
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42'

43.

NMJX-U-GTA

R oo F e FraeTed §, 3% 3 3 TR
foret s e T @8 g w3 e R,
39 fnfom 72F & 2

(a) 11

(b) 12

© 13

d) 17

o 7410 % 9 gr fawfsa e S R, @@
ffefea & @ 9w =1 8 2

(a)
(b)
(e)
(d)

~1 W [ LI ]

V3 - V2 3R HS oEH H U HET
frefefea s d w2 2

(a) /3

b) V2

(e) 2

@ 1

M AE x 3R y THt g geTensh @ § 16
VExHowq fRUSM e sy d 2 A gigH
ST &, 9 3 2l 1 SEUE 2 ;1 8 W g
IMTE xF2HIFg A A2 My & 2 +n
foru 9 €, 91 39 g1 I 39 3 ;1 8 S
2 | Frefafiea @ @ - g x - y & st
27
(a)
(b)
() 18
(d)

20
24

22

45.

46.

417.

48.

(12-C)
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1. n % T U THN1ATTERa &

e & DI R |

2. n % Th TH 2 n %sznhgﬁ‘ﬁ'iﬁﬂ 2
q(r)@?iﬁzfé |

. fou o Al A BHAVE T R 2

(a) <hadl 1

(b) e 2

(€ 13 2gM!

(d Fdq 1,782

fg-amurdt E= 101110 1 o gvHd HH =
87?
(a)
(b)
(c)
(d)

s fifie steel (F9e 2ar) @ swEAh
ga ¥ wiafdd w0 % foe ot el g
fefafes & & F9-w qovE voem frefe
gt e S g 2

(a) FaEM (Fgfe)
(b) T=EA (Wfan)

(¢ fe=m (feafam)
(@) i (3msegfen)

frefefad 4 @ S 398 sl dmh

IR WA, @ gEm Wl F S s=maAn T
& &9 % Hd w R 2

(a) HAR.W.UH,
(b) TR.371.uw.
(¢) Aw TEI
(d) K3 T
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How many times does thie digit 3 appear

42.

43.

between 1 and 100 such that the number
where 3 appears is not divisible by 3 ?
v

(@ , 11 oA

12 “‘,:\:5 “%?w
(¢ 13 “”1% g’
@ 17
Which one of the following is the remainder
when 7410 is divided by 9 ? A L(
a 2 ! A
® 5 "
(e 3

d 7

/%\Q%k//

Which one of the following is the arithmetic
mean of V3 — +/2 and its reciprocal ? b v
J3 4’7’\:‘%’
® 2
() 2

d) 1

Suppose x and y are two positive numbers
such that when x is reduced by 2 and y is

increased by 2, the ratio becomes 2:1; and

when x is increased by 2 and y is reduced by 2,

the ratio becomes 3:1. Which one of the

45.

46'

|

47.

48.

U\‘U

a composite natural number

‘K'\
Let n(>1) bd

GET IT ON
Google Play

whose root is not an integer.

Consider the following statements :
1 n has a factor which is greater than 1
but less than the square root of n.

2. n has a factor which is greater than the
square root of n but less than n.

square

Which of the statements given above is/are
correct ?

(a)
(b) 2 only

V(z)/ Both 1 and 2

(d) Neither 1 nor 2

1 only

What is tlle‘ggl‘livalent decimal value of binary

number 101110 ?
e 46

(b) 56

(c) 64

(d) 65

Jr40+ 2y 0

Which one of the following basic operations
for converting raw input data into
useful information is not performed by all

computers ?
(a)
(b)

o

(d)

Inputting
Storing
Switching
Outputting

Which one of the following memories is
extremely fast and acts as a high-speed buffer

between the CPU and the main memory ?

following is equal to x =¥ i "
v
A 20 % Vg (a) RAM
o
‘ (b) 24 vy”_v" { (b) ROM
() 18 2 . ’}\ (¢) Flash Memory
¥
(d) 22 %L v o Jfﬁ Cache Memory
g ¢ AT
o v '
. M g Y ¢ q
NMJIX-U-GTA n’ W’ 4 (135C) i
A7 flL/ X M 1
/‘b g 2 F P “/\'\ ,3
- P 7 ;
M RS 2
‘1' 41@ i \. \“ ,vq/" v.@ o .\/\/]‘V®

- T w - -
. Ld
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49.

50.

51.

52.

53.

NMJX-U-GTA

frafafies # @ v 39 s 757 2 2
(a) R@EQW@'{T

(b) HRTHITH

) =

(d) T W

frfafeg & @ ®H81 16GB g=1 # Fefia
TR 2

(a) 1024 KB

(b) 1024 MB

(c) 1024 TB

(d) 1024 PB

¥ 1915 T, Ti&Tor 3nhieT A wied & w1e, miefish
TEE UES HEl F9h SH-HGEE & s Suied

Y ?
(a) =S fovaideTed

(b) el
(¢) SR
(d) FATE g fawafaeey

fr=feafaq 8 ¥ 747 8w Herewr & d@d HiA
29

(a) WEICT <

(b) fag AHH

(c) ij's‘ﬁﬁ?l'{

@ zefag s

YRd $1 Waadl % 999, fAfaiad § 9 &F
TRATT U G F eIy 9 2

(a) tlgrﬁwﬁmrﬁm

(b) ETEETH E®

() ITA HAM AT

(@) .8 paaH

b4.

55.

56.

517.

(14-C)
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af 1031 ¥ om, fEr & ™ G #,
yuETER fram @ oTdied fRe g
T gam o 2

(a) Fgied vl

(b) HEAHE

(c) fiaen @B

(d) foerer arsh

IR Redié (1938) fere weqa 6 oft 2
(a) Hfeem <fim

(b) Il gl

(c) TER 9l

(d) YR T "

s gl 3fe@r [National Green Tribunal

(NGT)] & deftq f=fafaa a9z & & =9

a7 2 ?

(a) UA.SH.E. =1 73T 99 2010 F Tomam T o1 |

(b) SHHT LT YA Gem IR Gt qen
g TEYET % GO ¥ Hefud
aMe w1 Yl wd iy Fuem gifvea
HEATR |

(¢) a8 fofaw ufram dfga & afim fuifa
TR § e B |

(d) I8 F=hteh = & fagml o ke & |

foafafeg @ @ 9w yewan offy =

A 7 2

(a) %wwﬁwﬁ%méﬁ%%m

4 aatfed At ¥ e s

ﬁﬂwﬁm,mﬁw,mm

yeTES gur R S g )

I8 R & [afREen @ g smst &

HeteTor it 2 |

() @& T v weerEies 6 el
W wEl B IR g @At R R oan
gﬁﬁmmaw@mm@@
I

(b)

(d)
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Which one of the followig is nmof a web

49
browser ?
(a) Internet Explorer
(b) Firefox
( Fedora
(d) Google Chrome
50. Which one of the following represents 1 GB of
information ?
(a) 1024 KB
L 1024 MB
() 1024 TB
(d) 1024 PB
51. Where did Gandhiji put in his first

52,

53.

major public appearance after returning from
South Africa in 1915 ?

(a) Bombay University
(b) Kheda

(¢) Champaran

JEU Banaras Hindu University

Who among the following is the author of
‘Gandhi as Mahatma’?

(a) Mahadev Desai
(b) Shahid Amin

\/(cJ Louis Fischer

(d) David Arnold

Who among the following was the President of

the Indian National Congress at the time of

independence of India ?

./(a/) Pattabhi Sitaramayya

NMJX-U-GTA

(b) Jawaharlal Nehru
(c) Abul Kalam Azad
(d J.B. Kripalani

54.

55.

56.

57.

GET IT ON
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During 193[l, under whose leadership, did a

strong Kisan Sabha Movement develop in the
Gaya District of Bihar ?

(a) Yadunandan Sharma

(b) Sahajanand

(c) Sheetla Sahai

(d) Tilka Manjhi

Who produced the Pirpur Report (1938) ?
(a) Muslim League

(b) Unionist Party

(¢) Ahrar Party

(d) Indian National Congress

Which one of the following facts pertaining to

the National Green Tribunal (NGT) is not

correct ?

(a) The NGT was set up in the year 2010.

(b) Its purpose is to ensure effective and
expeditious disposal of cases relating to

environmental protection and
conservation of forests and other natural
resources.

Jp‘)’ It is bound by the procedure laid down
under the Code of Civil Procedure.
(d) It is guided by the principles of natural
justice.

Which one of the following is the mandate of

the Committee on Estimates ?

(a) It reports on what economies,
improvements in organization, efficiency
or administrative reform consistent with
the policy underlying the estimates, may
be effected.

‘/(,HT It scrutinizes appropriation and finance
accounts of the Government.

(¢) It examines reports of the Comptroller
and Auditor General and whether public
undertakings are run efficiently.

(d) It examines bills on matters of general
public interest.

(15-C)
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60.
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2021 - 22 H ¥A H Rafos A F gy

Frafafes 3§ & feah @it 2
(a) 9%

(b) 11%

() 13%

(d) 15%

fifd smErT § NITr woe F=fafea & @ frge
qRaff w1t 8 2

(a) T $RINH W gEwHEE a1 e
(b) S SR B g S
(c) F¥FE SRS B SaIaATToTRe Sre
@ IS FeEH W I 1 sfea

frfafed & @ S99 777 77 FEF9 H1
TE IV TET @ ?

(a) I& A IF GI1T il T U8 2 |

(b) 399 YEHd: IW oW, fugn 3R aifem
Tl & Tig wigfod £ |

(c) 3EHI Iev WM 441 & T =@ gl =y
T § 39 d g FE1 8 |

(d) 3G ILYF TN TG & fFAR 99 F il
%1 T U & &9 § SYqid HE1 8 |

61.

62.

63'

64.

(16-C)
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39

1 3 9 Y Jfirepan Tf¥r ferat @ 2

(a)
(b)
(¢) ¥ 15,00,000
(d)

_____

< 5,00,000
< 10,00,000

< 20,00,000

foreft srareer wmfepn % foru we goate § wW W
2 IAA =l Y rfeman wen e 2
(a) 35%E¢

(b) 40

(c) 45%R

(d) 48%R

98 fean omafy w=n 8, foad agfaa awn
Fan weell sAtafrEm, 1948 % 1A worgdt
= g h wften wuft I IR GuifE
Haft 2

(a) 299

(b) 3o

(c) 499

(d) 5%

51 TG Ao % e, aw siftesan i
foreft 2, R forelt forfr o & S sm fiwa
ST Hehdl 8 ?

(a)
(b)
() T29™@
(d)

T 159
T1d4™

¥ 2549
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According to the Economic Survey 2020 - 21,

59.

60.
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which one of the following will be India’s real

GDP growth in the year 2021 — 22 ?

(a)

S

(c)

(d)

9%
11%
13%

15%

Which one of the following is the acronym for
the word ‘NITT in NITI Aayog ?

(a)

(c)

(d)

National Integration and Transformation
of India

\}bf National Institution for Transforming

India

National Institution for Technological
India

National Institution for Trust in India

Which one of the following is not a
correct description of the Namami Gange

Programme ?

(a)

(c)

(d)

It is an initiative of the Ministry of Jal
Shakti.

It primarily covers villages in the States
of Uttar Pradesh, Bihar and Odisha.

It aims to make villages on the banks of
the river Ganga open defecation-free.

It aims to transform some villages on
the banks of the river Ganga as Ganga

Grams.

61.

62.

63.

64.

GET IT ON
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What is thgq maximum amount of gratuity

payable to the employees under the Payment
of Gratuity Act, 1972 ?

‘}zf Z 5,00,000
(b) ¥ 10,00,000
© < 15,00,000
@ T 20,00,000

What is the maximum number of hours in a
week that an adult worker is allowed to work

for ?
(a) 35 hours
(b) 40 hours

What is the maximum period in which the
appropriate government shall review and
revise the minimum rates of wages under the
Minimum Wages Act, 1948 ?

(a) 2 years
\}}rf 3 years

~ (¢) 4years
(d) 5 years

Under Sukanya Samriddhi Yojana, what is
the maximum amount that can be deposited

during a financial year ?

(a) T 1:5lakh
o T 1llakh

(¢) T 2lakh

(d) ¥ 2:5lakh

(1T =G
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H13 g oed dve Ao § afdfa @
Tl & ?

(a) hE: 21 99 R 58 T4

(b) 3HESI: 18 ¥ 3N 40

AT 18 99 3R 50 99

A 21 99 3R 60 T

(c)

(d)

A A F v g 4 d s 2 0

(a) =9 T AT H A R I7RE wiw
e

b) foFa & 4 99 U O ) 9E 9 Ten
&+ WIE IS A1y

(© Towa 3 8 53 o wel ¥ ey oy

d) Toa o 4 § ol & =g % Wl F
T I @AY

TE ATURYA T@TH HheqdT &1 2, S T
Torelt sreame =1 w14, aﬁgmﬂﬂwrﬁa‘aﬁﬁ%
YIEYH 1 T HTt 8 2

(a) e

(b) &Rl

() HHFETAI
(d) Ffeartedr

SR | AU iaeqef§ & va9 w0 ud Ieded 3
fowom fouml & 9 e B9 S geAnd w.
eRaTafedl @ ehe AE i e €, 99 Frell s
g fafafed # & #H-6 om@r deed T w5
T feRaT ST £ 2

(a) Toem

(b) TET AT

(c) ATH HI=CT

(d) <™

69.

70‘

72.

{180
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AGT TR HIA B 2

(a) =TT weTd

(b) T=amaTies Heumd

(c) fafmfor geemd

(d) s rfifrm & srefi dofiepa Safat

A N Ty @l % gay A fefafEd § @
-1 HYH TE R 2

T Arefesh 9@ § |

Tg Sfeher wi@ B |

Ig AETEAf ol R |
Ig wfaffy dafes o@r 2 |

(a)
(b)
(c)

‘e ke g% i THRTHC THH & o@H
Feffaa da s € 2

(a) TEATS AT

(b) TS, 37egH Herm

(c) T v

(d) S AT

W TR A i a9 R T B g faw”
% ¥4 § T ) Hiyon 6 2

23 Sl
14 39
28 Mg

25 feaer

(a)
(b)
(c)
(d)
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5. What is the minimum and maximum age at|69. Which one of the following concerns prepares

which a subscriber can join the Atal Pension Receipts and Payments Account ?

Yojana ?
Trading concerns

(a) 21 years and 58 years respectively
Non-trading concerns

(b) 18 years and 40 years respectively

L/(;)/’ 18 years and 50 years respectively

(¢) Manufacturing concerns

(d) 21 years and 60 years respectively () iompames registered under Companies
ct

66. Which one of the following denotes Gross
Profit ? 70. Which one of the following statements is

(a) Cost of goods sold + Opening stock correct about Income and Expenditure

2
(b)  Sales less Cost of goods sold Account

(¢) Sales less Purchases (a) Itis a Real Account.

y Net profit less Expenses of the period (b) It is a Personal Account.

(¢) Itis a Nominal Account.

67. What is th lyi i .

! at. is the under yl ng accounting concept (d) It is a Representative Personal Account.
that supports no anticipation of profits but
provision for all possible losses ?

71. Who among the following is the author of the

(a) Matching
book “The Little Book of Encouragement’?

(b) Materiality
(a) Dalai Lama

Consistency
\/d/ Conservatism (b) A.P.J. Abdul Kalam
(¢) Ravi Shankar
. : ¢
68. Which one of the following accounting NyomedisisVavudeh

concepts is applied by an entity, when events

such as new competitor entering in the market
and rift between production and marketing | o Which day has been declared by the

departments are not disclosed in the books of Government of India to be celebrated every

year as “Parakram Diwas” ?

accounts ?
JA Matching (a) 23 January
(b) Money Measurement (b) 14 April
(c) 28 May

(¢) Revenue Recognition
(d) L/‘25December

(d) Cost

NMJX-U-GTA (19-C)
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73— SHTeat S-St STl aearet 48 & [ 77,
T fopfd, St HRE dt w =S @ 1 o, T

& d, seoft A gfem g osrme A1 R | wm
foowen & 571 %1 %9 frafafies 4 4 R
27

(a) Tode 39 7m

(b) uTe! fUsmE

(¢) THIEHATIAA! 8.
(d) TorTel o f&=h

74. 8= e I, wiwe wrRIER Rew-2021 1,
G I -8 w=F T d o

(a) ﬁ?ﬂﬁ

(b) g
(c) =q¥

~

(d) Y=
79.

75. TSAEH AW A FRfoEE  sAwa fm
TATHe, 2021 F1 Afge the faam sfar | 3=2M
fr=fafea 5 @ 68 e o =@ a1 2
(a) o9 fafay
(b) SR s
() § fafeems

(d) TaqMAT Zem
80.

76. 5 9§ UEdl, U U4 HR I Ul il 3NEq
g 23 9§ off, 91§ IR foamg gawm o1 | ufq,
Ul 3 3% 5= I 2fd Ay 37E 20 99 2 |
= Sl Y A feral B 7
(a) 9 WEH
(b) 199
(¢) 3°d
(d) 499

NMJX-U-GTA (20-G)
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i3 5 ey i, e et ksl
Q 3 el & g9 wEE: W, 3R W, &, @
Wl:Wzﬁm‘f\ﬁ%ﬁﬁﬁﬁFﬂ%W%?

(a) 8:27

(by 27:8

(c) 4:16

(d) 16:4

Uk H 0 409 fomndff wndm ¥ ek
50% wiefral € | afe wrdig fernfdfat =1 25%
aefral 8, @ v faenfial @ fran
s @ & 2

(a) 3333%
(b) 40%
() 25%
(d) 20%

T HET § 100 BT bl 3HA1Ed a9 46 kg 2 |
wghi 3R TSRl % 3fiFd a9 FEI: 50 kg
3R 40 kg B | ©Igh! IR TSRl $ T F
&= o forq sl 2 2

(a) 30

(b) 25

() 20

(d 10

Th WHEl, 9 99 S0 ST 8, R wels
EﬁTlOcmSﬁTW%Ogm% | 39 99 & 8fas
Ak T 3T B U Tar s 2 | gfe gt
Wﬂﬁlmﬂﬁcm:i%,?ﬁmiﬁéﬂ
f%ﬂmcmaimWﬁ@W?

(a) 1cm

(b) 15em

(¢) 2cm

(d) 25cm
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—ﬁﬁq—eepg,r—ef—bh-e—fa-maus—l-ﬁizentury art work

‘Salvator Mundi’, which was reportedly stolen,

has recently been recovered by the Police in
Italy. The painting is attributed to whom

among the following ?

el

Vincent van Gogh

(b) Pablo Picasso
(¢) Michelangelo
(d) Leonardo da Vinci
74. The Global Firepower Index-2021, a military
strength ranking, placed India at which rank ?
@) 2nd
® 3™
A
@ 5%
75. Naomi Osaka won the women’s singles title of

the Australian Open Tennis Tournament,
2021. Who among the following was defeated
by her in the finals ?

(a) Venus Williams

(b) Jennifer Brady

(¢) Serena Williams

Jﬂ/ Simona Halep

The average age of a husband and his wife

76. -

was 23 years when they were married 5 years

ago. The average age of the husband, the wife

and their child is 20 years now. How old is the

child now ? 4

A
(a) 9 months w§/ @
g

(b) 1year - 4

(c) 3years y y&‘zqﬁ

( 4 years W
NMJX-U-GTA (21-C)
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.-r
‘{1 On//“’v

If WI and W2 e Wclbllb‘) uf tWor ﬂU‘l-d Hon z
balls of radii % metre and % metre
respectively, then which one of the following 1s
equal to W, : W, ? 21
(a) 8:27 2+

; o3 LD
(c) 4:16 L’v) |
(d 16:4 ,‘g 2

40% of the students in a class are from India
and 50% are girls. If 25% of the Indian

students are girls, what percentage of
non-Indian students are boys ? _
A
S 33:33% i 0
(b)  40% &2 L
() 25% T
@ 20% af

The average weight of 100 students in a class
is 46 kg. The average weights of boys and girls
are 50 kg and 40 kg respectively. What is the
difference between the number of boys and

girls ? T g
(a) 30 . s°Ts
b 25 (- 4210
\}z)/ 20 ], ‘16‘:6
@ 10 5 At f e
-((.7*‘\{ v (D

A hollow closed cube of side 10 cm:\ each 1p’
weighing 200 gm, is made. This cube is placed
in water with a horizontal face. How many ¢m
of its height sinks in water if the density of

water is 1 gm per cm? ?

(a) lcm

\

(b)) 1:5cm /
J& 2cm / }{Mﬂyﬂ'ﬂ

(d) 25cm & 050 ré-
Y m
P q};O‘Fd' J‘{?
fﬁv .chfﬂL J(dm/q \’lf‘fo
] =
oz 87 wiv"’
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[ % = T T Fe w1 @ ol I W

gt
g1 g
(¥75g) (=)

A w3 1. fret faes o &
ot w9 & w5g L fem
Eic)!

B. &H&HR 2. T, JHIA FEl
i &1 =1 & fou
foret ST § fifsa
Fi3 =T

C. ged™ 3. YS9y g =ifva ST
F rerft 58

D. ETsel 4. FHHIIRE g W ¥
fear s

%<

A B G D

(@ 1 2 4 3

(b) 3 4 2 1

e 1 4 2 3

d 3 2 4 1

FHTEEHT AIHIH, 1948 % HATAR
‘FUR (TeifcE=<) & 2 ?

(a) To@m 15 ad i a1y gft & ot 2, fopg &
1899 ¥ %9 Y F &

(b) 1 1894 & HH 311 H &

(¢ Tomd 14 a9 & 3y oft = o 3, fohg
1899 § %7 g &I 2

d) Fre 16 a€ 61 oy g Al 2, forg
18 9% & HH Y H &

83.

84.

85.

(22~}
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fopefl e 3l o oon ST B 9

(a) Y ta sam R @9 g FEEw d
forn wmn foedt S srfufem gm
Arefea § Fef=hia Mfva & g mn 2

18 tar s P Ts9 g e §
o s freht T furfem gro el
1 gt e e feam T B

HE U e fymer TR g
o § fern s freft meferer FEm
g0 iz g afvE @ fEar
2

HI3 a1 Iam fyge == g fEew |
fom 9 et wgm wfafem g
wArerfed § aiia Gifta = fear ma 2

(b)

(c)

(d)

el ufirer @ (38 Ifem) & TS & oo
3fera weEl i =Han JE = R 2

(a) 29cH

(b) 39eH

() 79qH

(d) 10¥<H

¢8I Afufem, 1926 % IwEy %
Hala Fefafed & & fra/fe foae/fed
Hl FgEE-faETe 7 S R 2

et safs &1 W fa S Prafafes @
qafad 7

1. e

2. AEH

3. oW gifeufaf

A1 fow T e 1 i R w v gfi
(a) a1

(b) Al 2 3TN 3

(€ 1,23MW 3

(d) haw 131K 3
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g1. Match List I with List IT anld select the correct [83. What is a conttolled industry ?
answer using the code given below the lists : (a) | Any industry the control of which by the
List I List IT Union has been declared by any Central
(Term) (Explanation) Act to be expedient in the public interest
A. Closure Permanent closing ‘/Qﬂ/ Any industry the control of which by the
down of a place State has been declared by any State Act
of employment to be expedient in the public interest
B. Workmen Any person employed (¢) Any industry the control of which by the
in any industry to do Municipal bodies has been declared by
skilled, unskilled or any Municipal Rules to be expedient in
manual work the public interest
o _ (d) Any industry the control of which by the
C. Strike Temporary closing State has been declared by any Central .
down of workplace by . -
Act to be expedient in the public interest
the management
D. Lockout 4. C tion of
Sk s filbouet el 84. What is the minimum number of members
by employees ) . .
required for registration of a Trade Union ?
Code : V(a’f 2 members
A B Y D (b) 3 members
/\a/) 1 2 4 3 (¢) 7 members
(b) 3 4 2 1 (d) 10 members
() 1 4 2 3 |
@ 3 2 4 1 85. Which of the following disputes is/are
considered as trade dispute(s) under the
provision of the Trade Union Act, 1926 ?
Any dispute of any person connected with
82. Who is an ‘Adolescent’ as per the Factories 1.  Employment
Act, 1948 ? 2, Non-Employment
(a) Who has completed 15 years of age but 3.  Conditions of Labour
is less than 18 years Select the correct answer using the code given
below :
(b) Who is less than 18 years
. ¢ bk (a) 1lonly
leted 14 years ol age
\y TN?O h:; co;I;p -~ (b) 2 and 3 only
is less than 1o y
\)e/ 1,2 and 3
' (d) Who has completed 16 years of age but
(d) 1and3only

is less than 18 years

NMJX-U-GTA (23-C)
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ffafaa 4 @ $F-a1 |
(a) TR

(b) Tt

(€ FOH

(d) T

Fofefes st 4 @ Sagd 2 2
azeye fearsdt =1 fordl fearsq whmmes

(a) WAREIA gRI Iqeiey fby MU 3gE
FRI ITANN TG T ITeT L §

(b) FHX A=Y H W & fow ey
Y T SHTEAT AT © |

(© SEME & T4 & ey feagw #
gitafad (geee) et & |

AR3Ye fearsm & Ay WA & HER 6
H S E |

(d)

freare frr S a1 Wad! 3w W ghte @R
& fou f=fafed § 9 w18 e =1 3w
T ST & 2

(a) T wgH e
(b) HHRI TH TR
(c) YT HEX

(d) TEA g TR

frafafiga 9 | #1781 Aifeat wEa wiHe 787
22
(a) @311%@?[31'[3'
(b) TG T

(c) TH.T=q THh.
d) wdE.

90.

91.

92.

93.

94,

(24-C)

GET IT ON
Google Play

e & T wgeh forefl aTgshfires

1-bit I &
SRR
fifée fopan ST 2 2

(a) Thret
(b) TR
() forera-werd
(d) Hufde

f@muﬁ#aﬂééuﬁnﬂéﬁﬁrﬁﬁf%Hﬁ%?
(a) W @& h IYTEAT
(b) dwE &Y i IYEAT

(¢) 3T =i IqEAT
(d) 3y F FroeR TEd I IATE

g7 r e § g WA H wEal % i
R0 sgrar o4 w1 yarE fekan T o1 ?

(a) FoE@ H TR § FAIEA WHISS
AT

(b) Wi Tl I LT IEA | FEId

(© el e @ % wwd & @
HHEAT

S AT I FHI . THIOT T0TH
& e T

(d)

el 3 gt e amn % gy Fefafga @ @
forg T @ foRam o 2

(a) “hHI=RE M

(b) HTSHC! 3T

(c) 3HEHGHETG CHdeTsa firet

(d) STEHIETE HRITR

Pt & & ®9 wiw o § e e
% W AT 9 9

(a) STITRTI AT

(b) TSI 9ETE
() TS, T
d) W= T
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86. Which one of the following i$ not a language
translator ?
\)a’l Assembler
(b) Linker
(¢) Interpreter
(d) Compiler

87. Which one of the following statements is

correct 7

A device driver of output devices

(a) interprets input provided by users into

computer usable form.

(b)
e

interprets computer output into user
understandable form.

(c) translates user inputs into output
device.
(d) facilitates user to communicate with

output device.

Which one of the following registers is used to
keep track of the next instruction to be

executed ?
(a)
(b)
(c)

Se

Which one of the following is not an audio file

format ?

Memory address register
Memory buffer register
Program counter

Memory data register

89.

(a) MIDI
(b) WAV

,gf)afSWF

\\%WEG o

NMJX-U-GTA
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94,
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Which one of] the following denotes a

sequential electronic circuit that is used to
store 1-bit of information ?

(a) Register

(b) Transistor
\(}}/ Flip-flop

(d) Capacitor

Which one of the following does ‘Nirguna
Bhakti’ refer to ?

(a)
(b)
(c)
\ﬁ_l/ Abstract form of God worship

Shaivite form of worship
Vaishnavite form of worship

Incarnation worship

What did Ain-i-Akbari seek to promote within
the frontiers of the Mughal State ?

(a) Social disharmony influenced by the
whims of the nobility
(b) Cessation of the provincial units from

central rule

\_(})/ Social harmony with the support of a
strong ruling class '

(d) Establishment of a rule of rural
republics by overthrowing the Mughal
suzerainty

Gandhiji’'s Salt March to Dandi was started

from which one of the following places ?

(a) Kochrab Ashram

\}bﬂ/ Sabarmati Ashram

(¢) Ahmedabad Textile Mill

(d) Ahmedabad Jail

Who among the following was not a member

of the Socialist group in the Congress Party ?

\/M{v Jayaprakash Narayan

Rajendra Prasad
(c) N.G.Ranga

(d) Narendra Dev

(256-C)
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Frerferfian 3 & et smgeien 78 41 7 of 2
st ATeEm § framoy
Ter’ Trfefrs wfdtem

e % 3=« w Faw gwar
w1 freqor

(a)
(b)

(c)

ﬁmﬂ%:«fawﬁwmﬁaﬂtm@aﬁ
ot =1 g

(d)

TR T F IR gel o gued & i
weTiod 9o @ Fefefga § & S asw 3w
& =Y FHY g e ¢

(a) STRUTES S 99
(b) HEE
(c) ufe=m sma
(d) fosrm
Frafafea st § 4 SE-ay/HH-8 a8 22 2
1. HRd T HvH &1 gEaTeehdl 8 |
2. T FHre TG e § T R | A
3. 39 9HY 9Rd ¥ 76 THEL ¥4 F |
Hra feu T Fe w1 gE = HE IH gAY
(@) oo 3 |
(b) 1,23M 3
(¢) Had1
(d) Had 13K 2
(26-C)
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frafafigg & @ @9 vuE o FN G
Ao (... A, ) 3 T8 ?

(a) Idw, oMe 30w oA areh e
(T dY.) 3R ekt & IT %
o weifehr (aferdl) yem wE

(b) wfh T m e § R e wwfed
FE

() FFfeea i & ofrfa wfvama &= =
foream =

(d) w@dl H, ST ITANT gerar § GUR AT

Frafafaa & @ form wom o a9 1965 H, TR
w1 gl i wshHer Wi [T TafEm e
(3.3, )] wnfia o e 2

(a) SAGHQEI]

(b) higa

felacE
(d) ST

(c)

T AL TR A FaT YW we Fr gerfama
WOTEl % ¥ W OURY W T Arwmr @ 9m

Frfefiea @ a2 2
(a) W&
(b) YA
(c) 3IF

(d)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

95.

96.

97.

NMIX-U-GTA

s

S

Which of the
recommended in Macaulay’s 1835 Minute on

one following was not

Education ?
(a)
(b)

Teaching in English medium
‘Liberal’ literary training
Teaching of Western texts alone at

higher levels of education

(d) Teaching of both Western and Oriental

texts at higher levels of education

Which one of the following States will be
directly connected with Assam by the proposed
bridge between Dhubri and Phulbari over
river Brahmaputra ?

Arunachal Pradesh
Meghalaya
West Bengal

(b)
(c)

(d) Mizoram

Which of the following statements is/are

correct ?

1. India is a signatory to the Ramsar
Convention. ¥

9.  The Ramsar Convention is about

wetland conservation.«

98.

99.

GET IT ON
Google Play

Which one of the following is not an objective
under Pradhan Mantri Krishi
Yojana (PMKSY) ?

&)/ Providing subsidies to use fertilizer,

high yielding varieties (HYV) and

Sinchayee

pesticides

(b)

To achieve convergence of investments

in irrigation at the field level

(¢) To expand cultivable area under assured

irrigation

Improving on-farm water use efficiency

(d)

In which one of the following places, was

Asia’s first Export Processing Zone (EPZ) set

up in 1965 ?

(a)
AT

()

(d)

Ahmedabad
Kandla
Mumbai

Jaipur

3 g ¢ there are 76 Ramsar Sites in 100. Which one of the following is the name of the
: presen
India scheme introduced as a well-targeted system
Select the correct answer using the code given of service delivery to LPG customers ?
below : (a) SAHAJ
(a) 2 and 3 only \_}bf’ P
(b) 1,2and3
© " (¢c) UDAYY
Y 1 only
\)d{ 1 and 2 only (d)  UDAN «
" (27-C)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

- Adda

24

101.

102.
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e @ S, 79§ o S 78
27
(a)
(b)
(c)
(d)

S AN DI

CECHIHERI

TotyE-Ifian

T

frafafea 4 & e “gaefy 9mq &1 3w’
FET g 5 Ehal ?

(a) TIEITIERT

(b) Riegar

© TR
d) FERT

ffafga # ¥ SF-91 9=eE &1 aiom 787
22

(a) weal ¥ Jeer

(b) wedl Sa-fafaea

(c) wedl ol A

(@) Hedl g

aE= 9N H, frefafad ot & @ feed
S gH B ?

(a) TUEE HEAT 21

(b) TUEH TEAT 18

() XA

(d) TOTER HE&A 13

G Sreg Y et U AT weg H g B,
Toras srd 71 8 2

(a) wfaweft (Ufeaten)

(b) fcen (3=gf+)

() THF

(@ T fam

(28—
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106, forelt saftn 1 2 ol & S A S T

107,

108.

109.

110.

C)

ey &, frferfiad 1 @ A FoH TR 2
g1
@yf@a@%aﬂﬁmﬂ@%’@?ﬁ%l
yffea @1 @eh HL @ |
oI atf Fefuq fim wfafera @1 @dt
2|

i # & w-a Foa T 2 2
gen-ail 1 qureed w1 & 2 8

(a) TaTh a3 e T & = |

(b) T Ul N AGTH TH 6 dH |

(c) T (y)-Foport af wom-fomrott % <= |
(d) vFE-fortl R gya TN % &= |
TGN TN k1 AR ffafed d @
HAAT 8 2

(a)
(b)
(¢) 10mm
(d) 1000 A

wot-eiell Fferfaa ot § @ s ad 2 2

(a) WWWW@W%[

(b) TS o icrehel Wiy 1 grar & |

(c) UIICHE T I’hvH N wRywdf, ol
bl T 8 Fha B |

(d) RUTCHS A ATHYF Tehfa =7 Brar 2 |

af forelt v weel # et e Seaem
Y, AR § 8

(a)

(b)
(c)

(d)

10710 m

10 pm
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Uhaeh ane oFf L1 £33
wen—eRe—o1—the following is not a female
reproductive organ in humans ?

(a)
(b)

- JUL.

Ovaries
Oviducts

Cervix

(c)
\)d‘)/ Stamen

102. Which one of the following cannot be called
“Amphibian of the Plant Kingdom” ?

(a) Spirogyra
(b) Riccia

(¢) Funaria

(d) Marchantia

103. Which one of the following is not a

consequence of deforestation ?
(sd/;ncreased groundwater table
(b)

(c)
(d)

Decreased biodiversity
Increased soil erosion

Decreased rainfall

104. Which one of the following chromosomes has a
mismatched pair in a normal human male ?

(a)

(b) Chromosome number 18

\)J/ X-chromosome

(d) Chromosome number 13

Chromosome number 21

105. The word ‘Vaccine’ has been derived from a
Latin word having meaning
(a)  Antibody
(b)
©  Cow

\}d'j' Guinea pig

NMIX-U.GTA

Immunity
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106. Which one of-the—folowingstatenrentsistrue

with regard to the image formation by two
eyes of a person ?

(a) Both the eyes see exactly the same

image.
One eye sees half portion of the object.

Both the eyes combine the two images
seen by them.

(b)
(c)

S

107. Which one of the following statements is
correct ?

Each eye sees a slightly different image.

Wavelength of microwaves ranges between

(a) infrared waves and radio waves.

(b) visible waves and infrared light.
A4 yrays and X-rays.

(d) X-rays and visible waves.

108. Which one of the following is the size of
hydrogen atom ?

A 10%m

(b) 10 um
(¢) 10 mm
(d 1000 A

109. Which one of the following statements
regarding force is correct ?

(a) A positive force implies attractive nature.
(b) A negative force implies repulsive nature.

(c)"A positive force can be both attractive
and repulsive in nature.

(d) A negative force implies attractive

nature.

110. When a dielectric material is kept in an
external electric field, which one of the
following phenomena may be realized ?

‘/Gd)/ Magnetization

(b) Polarization
{c) Photoionization
(d) Circularization

C)
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111. 5d d fieme 9 w, F=fafes 4 @ s

112,

113.

114.

115.

NMJX-U-GTA

gerd pH ® wiEfda 787 %m 2
(a) NaHCO,

(b) NH,CI

(© Na,CO,
(d)

Ja 7 faeg s@ w, fafafies § @ S
yeh-feRgs yehifta 777 am o

(a) HIW Fhe

(b)

NaCl

Fish UI3sT

() <™

(@ &

g T Fafafen 3 & fraet soeem 787
HAT ?

Cu2+

H*

Ag*

A13+

(a)
(b)
(e)
(d)

Freafefea 9 7 foraw WA $i @ & off 2
(a) .9, g9rEd
(b) 3. MesH
(c) $.TETHIE
@) . <gfa=®

Tafafiga wgfea e w fa=m fifa
CO (g) + 2H, (g) —> CH,0H (1)

H, (g) % 2:0 T % A9 CO (g) % 20 HieA Hl
srfufezn & CH,0H () % forad #ret s fovu
I GHd B 2

(a)
(b)
(c)
(d)

N L I S I

120.

(30—~

oF)

116.

117.

118.

119.

GET IT ON
Google Play

s Yoy ol I g % FEtte
gmﬁﬁﬁﬁ-—rma‘amﬁgﬁ%ﬂ 78 2 ?

(a) T —AAMH

(b) e — ShIcTehTT

(c) ufgH -—'ﬂﬁlé
@ I — 8 feeed

af 2021 H, wRa # A
frafafigs & @ fem 29 %
(grs-afda wfeasie) F um fomr 2
(a) MR
(b) U

() ¥HIH
(d) sfRy

WA % dfaue 61 el S #, Al i
o= #, fafafea & 8 fFe w1 afFfoa
T R g 0

(a) eI

(b) S

(c) DS

(d) Tt

e

e % ¥Y W, STREE SHE AU iR
W2 7 1 TTeH fRu gRT R St & o

(a) .TH.US,

(b) 3mE. A sft .

(c) HI.3m.d.us.

(d) H.omms.uE.us,

(a) #I. ToMYTETEE
(b) EF T ey
(c) a9 SHTE Hagsff
(d) IR T g
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Which one of the following &

1 hibstances, when

111
TXXT

added to water, will not change the pH ?

(a) NaHCOg4

®) NH,CI

(¢) NayCO4
ng NaCl

112. Which one of the following, on adding to
water, will not scatter a beam of light ?

(a) Copper sulphate

(b) Chalk powder
(¢ Milk
(d) Ink

113. Which one of the following will not be reduced

by metallic zinc ?

(a) Cu?* ’if

(b) H* b

() Ag* 4<7
A3+

114. Who among the following discovered Proton ?

(a) J.J. Thomson

(b) E. Goldstein
l)e? E. Rutherford

(d) J.Chadwick

115. Consider the following balanced equation :
CO (g) + 2H, (8) ——>CHZ,;0H®)
How many moles of CH3ZOH (I) can 'be
obtained by reacting 2-0 mole of CO (g) with
2:0 mole of Hy (g) ?
(@) 1

AT

(c)

2
3
d) 4

NMJIX-U.GTA
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116. Which one of t
Railways and their Headquarters is not

o 11 2 . Loz 1
T TUTTOWINE — PJdITS U1 LUITAY

correctly matched ?
(a)
(b)
(c)
\/(,d‘)/ Northern — New Delhi

Central — Nagpur
Eastern — Kolkata

Western — Mumbai

117. Tri-service contingent of which one of the
following countries participated in India’s
Republic Day parade in 2021 ?

(a)
(b) Nepal
(¢) Bhutan

\/(d}/ Bangladesh

118. Which one of the following does not figure in
the list of languages in the Eighth Schedule of
the Constitution of India ?

Myanmar

(a) Dogri

& Bhoti
(¢) Maithili
(d) Santhali

119. As a routine exercise, Operations ‘Garam

Hawa’ and ‘Sard Hawa’ are conducted by
(a) BSF
(b) ITBP
(c) CRPF
(d) CISF

120. Who among the following was the founder of

Swatantra Party ?
(a) C.Rajagopalachari
7" Deen Dayal Upadhyaya
(¢) Shyama Prasad Mukherjee

(d) Acharya Narendra Dev

(3 ~)
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